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21 Questions  (50 Points) Question Bank: 20,000 Questions 

Test Questions 1 Test Assignment

Question 1  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Choose the correct answer for each question. 

A) 7

B) 70

C) 700

D) 7000

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Jul 2020
Last Modified: N/A
QID#: 22,231,867

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 2  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

What is the value of the digit 8 in 18 201?

A) 80 hundreds

B) 80 thousands

C) 80 tens
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D) 80 ones

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Jul 2020
Last Modified: N/A
QID#: 22,231,889

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 3  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

When a number is rounded off to the nearest hundreds, it is 16 800. 
Which of the following could not be the number?

A) 16 751

B) 16 789

C) 16 810

D) 16 899

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Jul 2020
Last Modified: N/A
QID#: 22,231,910

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 4  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Mrs Lee bought 36 sets of stickers. Each set contains 78 stickers. How many stickers did Mrs Lee buy?
Round your answers to the nearest ten.

A) 2700

B) 2800

C) 2808

D) 2810

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Jul 2020
Last Modified: N/A
QID#: 22,231,934

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 5  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts
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A) 8

B) 10

C) 3

D) 12

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Mon 6th Jul 2020
Last Modified: N/A
QID#: 22,231,960

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 6  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answers. Show all workings clearly. 

Write 40 092 in words.

Accepted answers:

forty thousand and ninety-two

forty thousand and ninety two

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,388,988

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 7  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

What is the product of 2608 and 9?

Accepted answers:

23,472

23472

23 472
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Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,389,022

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 8  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

Accepted answers:

1/2, 5/8, 3/4

1/2 , 5/8 , 3/4

1/2 5/8 3/4

1/2,5/8,3/4

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: Tue 14th Jul 2020
QID#: 22,389,251

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 9  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

What is the 6th multiple of 7?

Accepted answers:

42

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,389,279

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test
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Question 10  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

List all the common factors of 27 and 63.

Accepted answers:

1, 3 and 9

1,3 and 9

1 , 3 and 9

1 , 3 , 9

1, 3, 9

1,3,9

1 3 9

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: Tue 14th Jul 2020
QID#: 22,389,401

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 11  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

What is the remainder when 714 is divided by 4?

Accepted answers:

2

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,389,435

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 12  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

Mr Samy can pack 1620 books in 3 days. He packs an equal number of books each day. How many
books Mr Samy pack in a week?

Accepted answers:

3780

3,780

https://www.classmarker.com/a/tests/qb/manage/?test_id=1430694&question_id=22389401
https://www.classmarker.com/a/tests/qb/manage/?test_id=1430694&question_id=22389401&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1430694
https://www.classmarker.com/a/tests/qb/manage/?test_id=1430694&question_id=22389435
https://www.classmarker.com/a/tests/qb/manage/?test_id=1430694&question_id=22389435&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1430694


7/17/2021 ClassMarker - Manage Test

https://www.classmarker.com/a/tests/test/?test_id=1430694&trk=edittest_inrow_edit 6/10

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,389,480

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 13  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

How many fifths are there in 2 wholes?

Accepted answers:

10

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,389,506

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 14  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

Accepted answers:

1/6

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,389,551

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 15  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the questions carefully and write the correct answer. Show all workings clearly. 

What is the difference between the smallest 4-digit number and the greatest 2-digit number?

Accepted answers:

901
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Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: N/A
QID#: 22,389,578

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 16  Primary 4 Maths » Primary 4 Maths (Term 1) 4 pts

Read the following problem sums carefully. You may draw models to help you. Show all
workings clearly and write your correct answers. Please only type the number in the blank.  

In a school, there were a total of 2147 pupils and teachers. There were 122 teachers. There were 433
more girls than boys. How many girls were there?

Accepted answers:

1229

1,229

1229 girls

1,229 girls

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: Tue 14th Jul 2020
QID#: 22,389,683

Correctly answered feedback
2147 - 122 = 2025 
2025 - 433 = 1592 
1592 / 2 = 796 
796 + 433 = 1229

Incorrectly answered feedback
2147 - 122 = 2025 
2025 - 433 = 1592 
1592 / 2 = 796 
796 + 433 = 1229

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 17  Primary 4 Maths » Primary 4 Maths (Term 1) 4 pts

Read the following problem sums carefully. You may draw models to help you. Show all
workings clearly and write your correct answers. Please only type the number in the blank.  

Winson spent $180 to buy a total of 20 watermelons and durians. Each watermelon cost $5 and each
durian cost $15. How many durians did Winson buy?

Accepted answers:

8

8 durians
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Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: Tue 14th Jul 2020
QID#: 22,389,722

Correctly answered feedback

Incorrectly answered feedback

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 18  Primary 4 Maths » Primary 4 Maths (Term 1) 4 pts

Read the following problem sums carefully. You may draw models to help you. Show all
workings clearly and write your correct answers. Please only type the number in the blank.   

Jon has 840 stamps and Ken has 1176 stamps. How many stamps must Ken give to Jon so that they
will have the same number of stamps?

Accepted answers:

168

168 Stamps

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: Tue 14th Jul 2020
QID#: 22,389,778

Correctly answered feedback
1176 - 840 = 336 
336 / 2 = 168

Incorrectly answered feedback
1176 - 840 = 336 
336 / 2 = 168
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 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 19  Primary 4 Maths » Primary 4 Maths (Term 1) 4 pts

Read the following problem sums carefully. You may draw models to help you. Show all
workings clearly and write your correct answers. Please only type the number in the blank.  

Sally and Tim had a total of 1440 stickers at first. After Tim had given away 35 stickers, Sally had 4
times as many stickers as Tim. How many stickers did Sally have?

Accepted answers:

1124

1,124

1124 stickers

1,124 stickers

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: Tue 14th Jul 2020
QID#: 22,389,870

Correctly answered feedback
1440 - 35 = 1450 
1405 / 5 = 281 
4 x 281 = 1124

Incorrectly answered feedback
1440 - 35 = 1450 
1405 / 5 = 281 
4 x 281 = 1124

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 20  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the following problem sums carefully. You may draw models to help you. Show all
workings clearly and write your correct answers. Please only type the number in the blank.  

What fraction of the pocket money does Aaron spend more on food than on transport?

Accepted answers:

5/8

5/8 of the pocket money

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: Tue 14th Jul 2020
QID#: 22,389,944
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Correctly answered feedback
3/4 = 6/8 
6/8 - 1/8 = 5/8

Incorrectly answered feedback
3/4 = 6/8 
6/8 - 1/8 = 5/8

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test

Question 21  Primary 4 Maths » Primary 4 Maths (Term 1) 2 pts

Read the following problem sums carefully. You may draw models to help you. Show all
workings clearly and write your correct answers. Please only type the number in the blank.  

What fraction of the pocket money does Aaron save?

Accepted answers:

1/8

1/8 of the pocket money

Question Type: Free Text
Date Added: Mon 13th Jul 2020
Last Modified: Tue 14th Jul 2020
QID#: 22,389,973

Correctly answered feedback
1 - 6/8 - 1/8 = 1/8

Incorrectly answered feedback
1 - 6/8 - 1/8 = 1/8

 Answers |  Edit  |  Duplicate  |  Used In |  Reorder Remove From Test
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